BJ650 mEEEIRIEAEE

Ray&S

L

IimAoC

SiTiE)

Wi (iHihE) 47
Bk F
v\ A @
,_7 7\.\,\\/‘ \’; ’l% < gy
T 5459
[BJB50-1 | (A1) : RER=3%E

7 = L W H L1 L2 D S Ha d P
BJ650-06001 | 48 22 30 12 16
BJ650-08001 | 57 52 27 34 12 15 4 19.2 55 20
BJ650-10001| 76 32 45 18 222
BJ650-12001 | 86 . 36 50 16 20 ° 25.2 ’ 30

# = Wi M mIESRMEEE | BRE BN E

N WEREME Ls | (2) || (BUSMIRA N AIRIRE)
BJ650-06001 5 |M6x1 -35L 66 75 BJ350-06001
BJ650-08001 6 | M 8X1.25-40L 81 100 BJ350-08001
BJ650-10001 8 |M10X1.5 -55L 103 210 BJ350-10001
BJ650-12001 | 10 | M12X1.75-60L 121 250 BJ350-12001
BJ650-*+2 | (ZHID)

Eid) =5 L W H L L2 D S Hi1 d P
BJ650-06002| 48 26 30 12 20
BJ650-08002| 57 52 33 34 12 15 4 25.2 55 20
BJ650-10002| 76 40 45 18 30.7
BJ650-12002 44 49 16 5 38.2 9 30
BJ650-16002 8 54 50 20 437

& = Wi M mEBRMEASE | B2 & RN g

HEREME Ls | (g) || (AmNEkASAIREE)
BJ650-06002 5 |M6x1 -35L 52 85 BJ351-06001
BJ650-08002 6 | M 8X1.25-40L 62 115 BJ351-08001
BJ650-10002 8 |M10X1.5 -55L 79 240 BJ351-10001
BJ650-12002 92 310 BJ351-12001
s ——— X1.75-

BJ650-16002 10 |M12x1.75-60L 95 335 BJ351-16001




{2 F 7~ 9 R 36 L 73 0

WA AR mEBREEE

ll

W\ EIRIZ R BJ350 (&88P. 418) /BJ650(H!IT)
Bl744 (&8P 422)
(1P 420)%'7 / (;&EEP 532) L
~§ i b T

]

T\ mEEEREES ) S % 3=
1 Ble50(HAE2) - b mi7s0N
N (B8P, 422)  HEKIR (B8P 533)

BJ351 gpmy  BPAMES RIEEE
/BI744 (£18P. 532) E

(&H8P. 420)

JLZZ

i |\ mempiEas U
) ‘ BJ650(#HI2)
(B18P. 422) ) LGEH R B )IFSBATINR T &

A FIRBED RO AE A -
ST BRI 2B I T 5 T AMETIRIERY, ALUSEIRAFIESAL T,
{BRMREARLEBHETIRIE, BETHROZENLRIBHEN20%.



